Lesson 4.1B: A Formula for Slope

Name ________________________________________________     Date __________     Hour _____
Example 1: Use a slope triangle to calculate the slope of each line below.
[image: ][image: ]a.)							b.) 




We have calculated the slope of a linear equation by dividing the change in the outputs by the change in the inputs and by using a slope triangle to find the rise and the run. We will now look at using the slope formula to calculate the slope of a line given two points.
Slope Formula


The formula for the slope of the line passing through point 1 with coordinates and point 2 with coordinates  is 

				
	x
	y

	1
	7

	6
	4



Example 2:  Consider the line through the points (1,7) and (6,4).  
a.)	Find the rate of change by dividing the change in the outputs by the 
	change in the inputs.	



b.)	Find the slope of the line using a		c.) Find the slope of the line using the 	
	slope triangle.					     slope formulas.
[image: ]


					


c.) Without graphing, verify that the point (4, 5.2) is also on the line.

*The slope between any two points on a line will be the same.  So if the slope between the point (4, 5.2) and either of the original two points is –0.6, then the point is on the line.


d.) Find the coordinates of another point on the same line.

*You can find the coordinates of another point by adding the change in x and the change in y to a known point.
	Input (x)
	Output (y)

	4
	5.2

	
	

	
	











A line that goes up from left to right has a _____________ slope.  

A line that goes down from left to right has a _____________ slope.  


Horizontal lines have a slope of _______ because they have no change in y. 


Vertical lines have no change in x.  To calculate the slope of a vertical line, you would have to divide by zero, which is impossible, so the slope of a vertical line is __________________.

Example 3:  Label each graph as having a positive, negative, zero, or undefined slope.






Example 4:  Find the slope between the points using the slope formula: 
a.) (2, 3) and (4, 6.2).				b.)  (6, 3) and (8, 1.5)
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